n=47

TCGA-BJ

n=19

TCGA-ES8

' N=15

TCGA-CW

n=5

TCGA-DI

n=3

[CGA-F2

Correlation

35 ,

30 | .

25

N
o

path length

[y
(%]

10

0 200 400 600 800 1000

30 . T T

path length

0 200 400 600 800 1000

30 , T T

path length

0 200 400 600 800 1000

45 T T I

path length

0 200 400 600 800 1000

70 . T T

60

50

Fy
o

path length
w
o

20

10

0 200 400 600 800 1000

path length

path length

path length

path length

path length

90

80

p-value

200

400

600

800

1000

200

400

600

800

1000

50

200

400

600

800

1000

40

w
o

N
o

10

50

200

400

600

800

1000

40

w
o

N
o

10

200

400

600

800

1000



